11.1 Trig Ratios and Sine
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1) Given the reference angle {7, label the three sides of the triangle as opposite, adjacent, or hypotenuse.
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2) Given AABC and the listed reference angle, fill in the blanks:
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3) Find the value of the trig ratio:
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4) Find the missing side of each right triangle. hi? , > \p
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What happens when we need to find a missing side, but we are only given a side and an angle? This is where
we can use trig to help us. Because trig ratios are set values that apply to any right triangle, we can use trig
ratios to solve for a missing side. Today we are going to focus on the use of sine.
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5) Solve for x. Round to the nearest hundredth.
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Your calculator knows the value for any trig ratio given any size of reference angle. Because of this, we can use
’ ; . . . s .. _1,0PP
trig ratios to solve for angles in a triangle as well. We use what is called the inverse to do this, sin H=—).
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6) Find the indicated/angle} Round your answer to the nearest hundredth. 6= Sm-'%)
> R g 9::-5'\';l 'i-’—) ? H =2
/%5’70 ﬂilb u,”' Ou - O= sin _6_“_)
Lo e, - 8’0
N 5313




